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QUESTION 1

In the exhibit, which actors are involved in Use Case E? 

A. Actor Z 

B. Actor X and Actor Z 

C. Actor Y and Actor Z 

D. Actor X, Actor Y, and Actor Z 

Correct Answer: B 

 

QUESTION 2

If a well-defined activity has a parameter node with an incoming arrow and also contains a final node, which of these will
always have values when the activity finishes? 

A. both 

B. final node 

C. one or both 

D. exactly one 

E. parameter node 

Correct Answer: E 

 

QUESTION 3
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What can be captured by use cases? (Choose two) 

A. requirements of the system 

B. behaviors offered by the system 

C. data and control flow of the system 

D. changes in state over time of the system 

E. user-interface specification of the system 

Correct Answer: AB 

 

QUESTION 4

Which arrowhead shows that a message represents an asynchronous signal? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 5

In the exhibit, there is one element with the identifier b. is true about this element? 
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A. b is a class. 

B. b is of the type C2. 

C. b is defined local to M. 

D. b is contained in class C2. 

E. b must be a property of a composite structure. 

Correct Answer: B 
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